Write in log form:

(1.) 23 =8 here is the problem
logz 8 = 3 write in log form
(2.) 32 = 9 here is the problem
logs 9 = 2 write in log form
(3.) 63 = 216 here is the problem
logs 216 = 3 write in log form
(4.) 44 = 256 here is the problem
logs 256 = 4 write in log form
(5.) 113 = 1331 here is the problem
logi1 1331 = 3 write in log form
(6.) 102 = 1/100 here is the problem
logio 1/100 = -2 write in log form
(7.) 103 = 1/1000 here is the problem
logip 1/1000 = -3 write in log form
(8.) 40.5 = 2 here is the problem
logs 2 = 0.5 write in log form

Write in exponential form:

(9.) log, 16 = 4 here is the problem
24 = 16 write in exponential form
(10.) logz 27 = 3 here is the problem
33 = 27 write in exponential form



(11.) logs 64 = 2 here is the problem
82 = 04 write in exponential form
(12.) log7 343 = 3 here is the problem
73 = 343 write in exponential form
(13.) logo.s 0.25 = 2 here is the problem
0.52 = 0.25 write in exponential form
(14.) logio 0.001 = -3 here is the problem
103 = 0.001 write in exponential form
(15.) logz (1/8) = -3 here is the problem
23 =1/8 write in exponential form
Evaluate:
(19.) logio 10,000 here is the problem
logio 10,000 = x set the problem equal to x
10 = 10,000 write in exponential form
x = 4
(20.) logio 10 here is the problem
logio 10 = x set the problem equal to x
10 = 10 write in exponential form
x =1
(21.) 1logz 8 here is the problem
logz 8 = x set the problem equal to x

2x = 8 write in exponetial form



(22.)

(23.)

(24.)

(26.)

log: 64

logz 64

log: 32

logy 32 =

logz 16

logsx 16 = x

logs 1/9

logs 1/9

3* = 1/9

X

X

X

here is the problem
set the problem equal to x

write in exponential form

here is the problem
set the problem equal to x

write in exponential form

here is the problem
set the problem equal to x

write in exponential form

here is the problem
set the problem equal to x

write in exponential form
here is the problem
set the problem equal to x

write in exponential form

here is the problem



logip 0.01 = x set the problem equal to x

10 = 0.01 write in exponential form
X = =2
(28.) logio 0.0001 here is the problem
logio 0.0001 = x set the problem equal to x
10* = 0.0001 write in exponential form
x = -4
(29.) logs 64 here is the problem
logs 64 = x set the problem equal to x
4 = 64 write in exponential form
x = 3
(30.) logs 36 here is the problem
loges 36 = x set the problem equal to x
6* = 36 write in exponential form
X = 2
(31.) logio 1 here is the problem
logio 1 = x set the problem equal to x
10x = 1 write in exponential form
x =0
(32.) logio V10 here is the problem
logio V10 = x set the problem equal to x

10x = V10 write in exponential form



x =1/2

(33.) logz 1/4 here i1s the problem
logz 1/4 = x set the problem equal to x
2% = 1/4 write in exponential form
X = =2
(34.) logs 1/27 here is the problem
logs 1/27 = x set the problem equal to x
3 = 1/27 write in exponential form
x = -3
(35.) logi/2 8 here is the problem
logi/p2 8 = x set the problem equal to x
(1/2)x = 8 write in exponential form
x = -3
(36.) logis 16 here is the problem
logi/p2 16 = x set the problem equal to x
(1/2)x = 16 write in exponential form
x = -4
(37.) logisz 27 here is the problem
logiss 27 = x set the problem equal to x
(1/3)x = 27 write in exponential form

X = =3



(38.) logiss 81
log1/3 8l = x
(1/3)* = 81

x = -4

Solve for the wvariable:

(39.) loga 64 = 3
a’ = 64
a = 4
(40.) loga 32 =5
a> = 32
a =2
(41.) loga 2 = 1/2
al/z = 2
a = 4
(42.) loga 8 = 3/2
asd/2 = 8
all/2) = 2
a = 4
(43.) logsz x = 4
34 = x
x = 81
(44.) logz x = 17

take the cube root of each

here is the problem
set the problem equal to x

write in exponential form

here is the problem

write in exponential form

here is the problem

write in exponential form

here is the problem

write in exponential form

square each side

here is the problem
write in exponential form

side

square each side

here is the problem

write in exponential form

here is the problem



(45.) logio x = -3

1073 = x

x = 1/1000

(46.) logio 1 =y
10y = 1

y =0

(47.) logs 8 =y

4y = 8

3/2
(48.) logz7 81 =y
27y = 81

(33)v = 3¢

4/3
(49.) logi/s

(1/8)y =

(1/16)

(1/16)

write in exponential form

here is the problem

write in exponential form

here is the problem

write in exponential form

here is the problem
write in exponential form
write as powers of 2
multiply exponents
cancel the base 2's
divide each side by 2 and cancel
here is the problem
write in exponential form
write as powers of 3
multiply exponents
cancel the base 3's
cancel

divide each side by 3,

here is the problem

Il
g

write in exponential form



(1/2)3v = (1/2)4 write as
3y = 4 cancel the
y = 4/3 divide each side
(50.) loga (1/32) =y here
ay = 1/32 write in

a =2 and y = -5

powers of 1/2
base 1/2's

by 3 and cancel
is the problem

exponential form



